Because division by zero is not allowed, there may need to be restrictions
placed on the variable in a rational expression.
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To Solve Rational Equations:
» Name the restrictions on the variable.

» Hihe wwzc:m_ equation is wriften as a m_nowoﬁoa (a statement that
two ratios are equal):

» If the denominators are the same, Em numerators must be
equal.

» If the denominators are different, cross multiply to solve .

> If the rational equation is not written as a proportion:
1. Find the LCD of all terms.
2. Multiply both sides of the ancmco: m.w the LCD of al terms
to eliminate fractions
3. Solve for the variable.

> Always check solutions to be sure they work,
> Solutions cannot be restricted vahes,

Ex 1. The equation is a proportion and
the denominators are the same so the
numerators must be equal,

Ex 2: Since the restriction on x says
x cannot be 2, there is no solution.

No solution.
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Find the LCD:

2x=2%x

Sx=5%x

2=2

Ex 3: The equation is a proportion
with different denominators, so cross
multiply to solve.

Ex 4: The equation is not a proportion so..
1. Find the LCD of all terms

2. Multiply both sides of the equation by
the LCD to eliminate fractions

3. Sotve for the variabie.

» 2 is a factor, the greatest number of 2's is
» X is a factor, the greatest number of X’s is [
» 5 is afactor, the greatest number of 55 is [

LCD is 2*x*5 = 10x
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